






Задание

Вычислить 
          arctg(ctg 2/3·π)
               
         Ответ:  -π/6



Задание

    Решить уравнение
  cos²x - 3cosxsinx + 1=0

 Ответ: х = π/4 +πn, nєZ
            х = arctg 2 +πk, kєZ



Задание

  Упростить выражение             
      sin(π/2 – arcCos 0,6)

          Ответ: 0,6 
          



Задание

Решить уравнение
√3cos²x - 4cosxsinx + √3sin²x=0
   
   Ответ: х = π/3 +πn, nєZ
              х = π/6 +πk, kєZ



Задание

  При каких значениях  а  
данное уравнение имеет 
корни

         tg²x + tgx + a = 0
    Ответ:  при а ≤ 1/4



Задание

   Решить уравнение в 
градусах

      cos (30°- x) = 1
Ответ: 30°+360°n, nєZ 



Задание

    Упростить выражение
       sin (π + 1) + cos (π/2 - 1)
      Ответ:0



Задание

       Дано:  sinβ=0,6  и  0°≤ β ≤90°
       Найти:  cosβ  и  tgβ
     Ответ: cosβ = - √7/3  
                  tgβ = √2/√7



Задание

    Вычислить 
         arcSin (√2/2)
        Ответ: π/4



Задание

    Упростить выражение
 sin² 2(π+1) + cos² 2(π+1) 
               Ответ: 1



Задание

Вычислить
   arcSin0 + arcSin(1/√2) +
   + arcSin(√3/2) + arcSin1 =
  Ответ дать в градусах.
              Ответ: 195°



Задание

  Вычислить 
arcCos0 + arcCos(-1) + arcCos1  
Ответ дать в градусах.
             Ответ: 270°



Задание

  Решить уравнение
          sin (π/3 - x) = √3/2
  Ответ: 2πn,  nєZ



Задание

  Решить уравнение 
          sin (πx) = 0
       Ответ:n,  nєZ



Задание

  Решить уравнение
         tgx + ctgx = 2
  Ответ: π/4+πn,  nєZ






